N4 BAREERX

Dy=4814
Lo |

v_
| 1234 3300 1224 |
L=5768
~ 1=
Dy=4814
fﬁ P L=5768 S
D=2399 D=2399 .
F | WERTHR
: - | mg{f ELED] u—/ FEEER @
I St (kN/m) i (KN/ i)
y PRRARIT 5 | 50 [ 100 | 30 | 50 [ 100
ab | a*b | a-b | abh | a-bh | a-b @
w5 2028 | 57 | 1250 | 1150 | 950 | 650 | 650 | 640
===S88 2588 190
228755 5523 -
6L EE
4 V. O[_éILA } } 7 7 773 7 7 @
7 /) ==L il gl
- e —a e v >,
BIEBOBE 1234 3300 1234 tHavY - FEEEROSE
T E RS BHEE I%4 B |8 EREG B

AR & m%
Iz

| T A—R—F 7U1—Z 600547 ® 5 al #LEE @@
B jamvasey b 5552424 N 4 AT

i

\711




